B
8
e
1
£l

o
&




13000

9000

3000

10000~~~ == b L
______________________________ s
.¢.
o e IWET Y sy ™ TFit vEr 3
o 0 T B L i

| | g

I l I I | l | l | |

3000 4000 5000 6000 7000 :8000 :9000 10000 11000 12000 13000



it h pCi/l T St ’ s e e Lawiahil
R-7 R-8 | OW-1013 | OW-1014 | OW-1015| OW-1003| OW-1004 27 29 RIVER| MU-1
442 | 375 | 495 BDL 579 368 | 321 863 | 280 237 BDL 273 396 BDL BDL BDL 339 BDL
445 | 520 | 754 | 617 BDL 276 | 480 | BDL | BDL | 330 | 389 BDL BDL 390 BDL BDL BBl | BDL BDL
644 | 391 | 560 BDL 445 548 | 353 | BDL | BDL BDL BDL 362 269 BDL BDL 284 BDL
BDL BDL 352 237
313.0 329.0 323.0

28

* - Results do not appear to be consistant with remaining results. Not included in contours.
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